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1. BETHATRZRBAL AWK 2V CAHRRZEREHR) » KM B s
2B - BEEESDT
y1(0)=1, ¥1'(0)=0
Yl(0)=3. ys ' (0)=0 (155))
2. RTEHFIRREIZEBERK XAMBHRAFH2DGE TR29{LH
vit) = t volt (0<t<1)
v(t+l) = v(t) (15%))
R =10 ohm
v(t)
vit) 1
LeiH 0171///;
3. RiFME MBS (x) 2 5B B (Fourier series)
f(x) = x - x® (-1<x<1) (154%3)
4. KOMS r = 5(1-cos8) TEx-MLU ELSBONEL (FERATHE) - (155)
5. —HUHHERHKARA x* + y* = 3> &Qﬁéﬁﬁﬁ[ i 3 ]97?35: HEARHTEABANM
A?TEMATMAMTAEREZ BSHSMERUERARZEIHES - (94)
6. EREBALBAZWY  ABHAEZRTA 224,914 c=5.418 - BLTH * KER
ik (G181 (10T RER (112K G181) R 2 RERMA - i : BEGALEEM
(Miller index)ET » REE&KHA - (12%)
C
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#PE  4a, 2a, -4a/3, B¢
%92 mm 14 12 -3/4 1/6
a, 2
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7. %A (aragonite) RF G M %A WY » ER — BB A %K T HIEERH%BRR (tensor)

ZWEMEMT
30.5 4.573 0
4.5{3 21.5 x 10-* /°C
0 0 10

(Q)RBEZZEMHFMRREEMSE 2 BEHK - (122)
(b) & 4 B MR f B2 = Xl i (quadratic surface)ZE=XWREH L2 #E « (65)
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Jesinede = sin® - O cosB

8°sinB8dO = 280sin® - (6°-2)cosH

*cos@df@ = 20cosO + (8*-2)sinb

I
IBcosGdG = cosB + Osinb
Je

Jsin"BdG: ___—_sin"“fcose+___n; J sin"%0d8

ICOS“GdB: -%-cos"“esin9+ "T_IJ cos""*0d8

1
£ (%) = —x Z (") = o
Z {coswt} =—ST§,(‘,~: Z (sinwt) =ﬁ7

L {f(t-a)u(t-a)} = e-2*F(s) Z {e*tf(t)} = F(s-a)




